
Creating a bar model
Mathematics

Miss Mitchell



2

Question 1 a) One customer bought 36 blueberries. Another customer 
bought 22 blueberries. How many blueberries were 
bought altogether? 

b) There were 65 apples at the fruit stall. 42 were red and 
the rest were green. How many apples were green? 

c) The fruit market seller has 56 oranges in a box. He adds 
43 more oranges. How many oranges does he have now? 

d) The fruit seller has 67 carrots. He sells 35 of them. How 
many carrots are left? 


